calall = Jol> = ol Juasd) = chjus & pld) e o] caddl < dul L)) meliall ¢ maliall 280

10:25:14 2025-03-03 :zalial] 2350 e Caladl a5La) 5,6

Joc G gl | ciingnygr oogse | ol | el il | g Sl ol i) | edlal) S | plrald S | cnlile |85k Cre a3l

oeneld | Slgd) Gaia¥ T Agug el Sae | ity culasde | s jdaol mpie

91.').\3

o lial) dxin
Agrrans

Slal I

390 ISl 389 dnz yo dlin] drsazi £ 59 > |
Bllly (>3l (o dole dazl o )

A sl s ali 3

lis)) ISl 385 2l M) el 8 S 4
)5l ISl G385 codlil) o) 8 Se 5



https://t.me/uaecourse
https://almanahj.com/ae/id=31606
https://almanahj.com/ae/id=31606
https://almanahj.com/ae/11physics2/keys
https://almanahj.com/ae/11physics2
https://almanahj.com/ae/11physics
https://almanahj.com/ae/11
https://almanahj.com/ae
https://almanahj.com
https://almanahj.com/files_by_day?country_code=ae&date=2025-03-03
https://almanahj.com/ae/11physics2/sheets
https://almanahj.com/ae/11physics2/slides
https://almanahj.com/ae/11physics2/keys
https://almanahj.com/ae/11physics2/exams
https://almanahj.com/ae/11physics2/quizzes
https://almanahj.com/ae/11physics2/book
https://almanahj.com/ae/11physics2/guide
https://almanahj.com/ae/11physics2/files
https://almanahj.com/ae/11physics2/files
https://almanahj.com/ae/11physics2/final
https://almanahj.com/ae/11physics2/notes
https://almanahj.com/ae/11physics2/reports
https://almanahj.com/ae/11physics2/english
https://almanahj.com/ae/11physics2
https://almanahj.com/ae/11physics2
https://almanahj.com/ae/network11
https://t.me/almanahj_bot
https://www.facebook.com/groups/grade11uae
https://www.facebook.com/grade11uae
https://t.me/ae11grade
https://t.me/almanahj_bot
https://facebook.com/UAEcurriculum
https://facebook.com/UAEcurriculum
https://facebook.com/UAEcurriculum
https://bit.ly/3d8Us1B
https://bit.ly/3lSsdIt
https://bit.ly/3lQ5kFG
https://bit.ly/3ro2lFw
https://t.me/uaecourse
https://almanahj.com/ae/11physics2
https://almanahj.com/ae/id=31605
https://almanahj.com/ae/id=31462
https://almanahj.com/ae/id=31423
https://almanahj.com/ae/id=31420
https://almanahj.com/ae/id=31419
http://www.tcpdf.org

ele e o> sbpall S

Demonstrate that the velocity vector at any time is tangent to the circular path for an 12
object in uniform circular motion,

figure 9
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Two vehicles are traveling on the same
circular path and the linear velocity of
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the following statements is correct? -
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2. ‘ > The centripetal acceleration of the first vehicle is equal to half the centripetal acceleration of the | = l
~ second vehicle 1

3. The centripetal acceleration of the first vehicle is twice the centripetal acceleration of the second
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Relate the centripetal acceleration and the speed of an object in uniform circular motion
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Explain Kepler's Th.ird Law which statt.as that the square of the ratio.of the p.ericds of any 2s mentioned in the book 3
4 |two planets revolving about the Sun is equal to the cube of the ratio of their average tion 33 8
distances from the Sun and write it in equation form ([TA/TB)2=(rA/rB)3). questo
5 Explain Kepler's Second Law Whlc!l slaltes that an imaginary line from the Sun to a planet 2s mentioned in the book M
sweeps out equal areas in equal time intervals.
15  |Explain and state Kepler's three Laws of planetary motion as mentioned in the book 313
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According to Kepler’s third law, which of the O sl oLl Gullil) ¢ 3Bl 188
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relationship between periods of planets and Jo gia g S Sl (g 5 gal) O 3l
their mean distances away from the Sun? Fomadd) S g Aduy aayd)
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Two moons M;, M: with different masses are moving in e lia o G s+ AR LaALSES NI oo M Ol
their orbits around a planet, as shown in the fisure. Which baa (o) RN e pb Laf i) g80 2ad ] g
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1. Mz has a smaller period tham W

2. M: has a greater period tham Ny
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Justify Kepler's Third Law by using Newton's Second Law of motion and Newton's Law for as mentioned in the book kL)
universal gravitation.
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unknown parameters.

Apply the law of universal gravitation to calculate the gravitational force or other

questions 38, 43
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1. An increase in the linear velocity of the satellite

A satellite revolves in a circular path around the Earth. Which of the ) gi TSI G Jn g3 g"‘*‘ AR g
following could be a reason for the decrease in the radius of the Jesa b e il L (3955 ) (S b
satellite's path if the magnitude of the force of attraction between the Cmdal) 38 jldRa el Jla b s Lial) yadl)
Earth and the satellite remains constant? U slall iy ya il

e biall il jhadll de jull L3 5al)
2. An increase in the satellite's mass
e liall all A3 il

3. An decrease in the satellite's centripetal acceleration

oelicall aill ¢ Sl p il b i

Wl Ml 4. A decrease in the satellite mass \
- G'\ eliall pall A€ s olais
—
v 2

Two objects each with mass m at a distance r from each
other. The gravitational force between them is F. If the

masses of the objects are increased to be 3r, what will be
the gravitational force between the objects?
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19.4  |Calculate the orbital speed of a satellite. example 2 "
138 | calculate the orbital period of a satellite
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8 Define a radian and convert degrees to radians and vice-versa as mentioned in the book 57
12 |Define angular displacement as mentioned in the book 56
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Relate the linear velocity (v) to the angular velocity | ) and the distance (r] from the
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Apply the relation { =Frsin ) to calculate the matnitude of torque ( ) for a force force of magnitude (F) where (r) is the

13 distance from the axis of rotation to the point where the force is exerted, and  is the angle between the force and the question 63 81
radius from the axisTof rotatfbn to the point where the force is applidd
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14 |Calculate the net torque when more than one torque acts on a body about a rotation axis figure 9 63

\ 63\9@“1\obgﬂ\)gmdyeﬁjssdsﬁéawq&‘ﬁ”‘w’?‘ 14‘

sl gyl Jobo B—

(TORQUE) 4 ;a1
Lrsin B iyers sl o2 F asn)) (o Juols sslws psal)

RUSTRSUBTE

T = Frsin 6

5 TR Sl ass 3B

R T | O 5b il




dminge) dawasd) Q¥ Lle agial) (55 ol sl doge .63
@orll US aslae o) Jas¥ L uS¥I ) JBY) (e 26 JS2I) B

) sl.m.'uo

A ! B

C D

E
Sp——

The figure shows Mohammad and his sister Laila Gl Al AR sana gl Jol) s
playing on a seesaw, which of the following can lead to A O OSa b b ) O Aa g ) e
the balance of the seesaw? a0 o

M

- |

. Laila moves closer to Mohammad
(ya A St L8 jal daas

2. Mohammad moves closer to Laila

3. Muhammad and Laila move towards each other the same distance
dena ol Ly Adliaall iy Leguiany slaily

4. Mohammad and Laila move away from each other the same distance
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The figure shows a force I exerted on a door in Aol col b Adbikos el g A

six positions. In which of these positions the 6 e il o gl mal) 1Sy
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Relate the arc length (x) to the angular displacement ( ) and the distance (r) from

the axis of rotation, relate the linear velocity (v) to the angular velocity ) and the distance (r) from the table 1 53
16.A  |axis of rotation and relate the Iinearatceleratinn[a]t#theangular acceleration | ) and the distance
[} from the axis of ratation o
168 |Apply the relationship between a force F and the work done on a system by the force
when the system undergoes a displacement d: W =Fd cos where is the angle between example 2 9
the direction of the force and the direction of displacement
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he figure shows a rotating disk ad two spots on it A and B. (A)is at (X)
n from the disk's center and (B) is at (Y) cm from the disk's
:nter. How can the angular velocities of the two spots be compared?
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18

Calculate the net torque when more than one torque acts on a body about a rotation
ais

example 1 62
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20 |Solve problems related to rotational variables

problem 3,4 59
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